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[aAn(b—C)]—>[(a—b)—c]=
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[aA(b—c)]—[(a—b)—c]=-[an(bve)]v[-(a vb)vC]
=[av(bac)]v[(anb)vc]=[av(anb)]v[(bAc)vc]=
[(@va)A(avb)]v[(bve)a(eve)]=(avb)v(bve)=1
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IX[AXABX], vX[BXx—Cx], vX[AXx—CX]

.2
IX[DXAFX], vX[FX—(ExvDx)], vX[DXx—EX]

A

vX[RX], 3x[Qx—RX], ax[Px—RXx], vx[PXVQX]
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IX[AXABX].
vX[BXx—CX].
vX[AX—CX].
AanBa, 1,EP(x/a).
Aa, 4, perut.

Ba, 4, perut.
Aa—Ca, 3, US(x/a).
Ca, 5,7,MP.
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IX[DxAFX].
vX[Fx—(ExvDXx)].
vX[DX—EX].
DanFa,1,EP(X/a).

Da, 4, perut.

Fa, 4, perut.
Fa—(EavDa), 2, US(X/a).
EavDa, 6,7,MP.

Da—Ea, 8, (Ax 29).

10. Ea, 5,9,MP.

11. Da—Ea, 3, US(X/a).

12. Ea, 5,11,MP.

13. EanEa, 10,12, contradiction
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. VX[RX].

1

2. IX[QX—RX].

3. IX[Px—RX].

4. vX[PxvQXx].

5. Qa—Ra, 2,EP(X/a).
6. Pb—Rb, 3,EP(X/b).
7.Ra, 1, US(X/a).

8. Qa, 5,7,MT.

9. Rb, 1, US(X/b).

10. Pb, 6,9,MT.

11. PavQa, 4, US(X/a).
12. Qa —Pa, 11, (AX 29).
13. Pa, 8,12, MP.

14. PbvQb, 4, US(X/b).
15. Pb —»Qb, 14, (AX 29).
16. Qb, 10,15, MP.
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